Y/CANARM GOMFY COW SELF LOCKING FEED FRONTS ™o

AgSystems ™

FEATURES

Quick & easy individual or group lock and release.

Available in 8’, 10’ or 12°.

Counterweight system ensures swingers stay open when empty.
Strong, durable, hot dipped galvanized metal for extreme longevity.
Dual action swinger provides safe operation for cattle.

Completely customizable.

Save time and increase animal comfort when handling your cows, heifers and SUPERIGR
calves with Canarm AgSystems’ Open Top Self Locking Feed Fronts. They ensure
cow health & safety with individual panic release buttons on each headlock. Lock cow HE ALTH
all your cows down at once or individually to easily identify and treat them in one

location. Our unique counterweight system ensures your stalls stay open when AND s AFETY
empty.

e New cow tamper proof handle.

e Designed for easy operator use.

Froudly

Made in Canada

o

e Can be installed on previous
style of self lock feed fronts.

CANARM LTD. - Corporate Office Arthur Manufacturing Facility Montréal Warehouse CANARM LTD. - USA Warehouse
PO Box 367 2157 Parkedale Ave., #7686 Concession 16, RR 4 2555 Rue Bernard Lefebvre 808 Commerce Park Drive
Brockville, ON Arthur, ON Laval, PC Ogdensburg, New York,
Canada K6V 5V6 Canada NOG 1A0 Canada H7C 0A5 USA 13669
Tel: (613) 342-5424  Fax: 1-800-263-4598 Tel: (519) 848-3910 Fax: (519) 848-3948 Tel: (450) 655-2535 Fax: (450) 665-0910 Tel: 1-800-267-4427 Fax: 1-800-263-4598
www.canarm.com agsales@canarm.ca

Subject to Change without notice. Printed in Canada



V//CANARM FEED FRO NTS FEED FRONTS - 2

NOV/2022

SELF LOCKING FEED FRONTS FOR CALVES

FEATURES

Quick & easy individual or group lock and release.

Available in 8’,10’ or 12’.

Counterweight system ensures swingers stay open when empty.
Strong, durable, hot dipped galvanized metal for extreme longevity.

Dual action swinger provides safe operation for calves.
Completely customizable.

For calves up to 6 months old.

ANGLED FEED FRONT

FEATURES

¢ Designed to reduce feed wastage.

In order to back out of the angled feed front, the cow must turn its
head sideways, making it difficult for the animal to pull feed through
the openings into the pen.

Uprights are clamped, therefore the neck openings can be easily
adjusted to the exact size required.

e Also available with welded uprights.

e QOptions available for all stages of development.

ADJUSTABLE RAIL BRACKET

FEATURES

e Cost efficient.

¢ Adjustable to meet the needs of your cows.

e Open concept for your cows.

e May be removed at a later date and self
locking feed front installed on existing posts.

CANARM LTD. - Corporate Office

Arthur Manufacturing Facility
PO Box 367 2157 Parkedale Ave.,

Montréal Warehouse CANARM LTD. - USA Warehouse
#7686 Concession 16, RR 4

2555 Rue Bernard Lefebvre 808 Commerce Park Drive
Brockville, ON Arthur, ON

Laval, PC Ogdensburg, New York,
Canada K6V 5V6 Canada NOG 1A0 Canada H7C 0A5 USA 13669
Tel: (613) 342-5424  Fax: 1-800-263-4598 Tel: (519) 848-3910 Fax: (519) 848-3948 Tel: (450) 655-2535 Fax: (450) 665-0910 Tel: 1-800-267-4427 Fax: 1-800-263-4598
www.canarm.com agsales@canarm.ca
Subject to Change without notice.

Printed in Canada



W/CANARM' COMFY COW SELF LOCK 28.5” SPACING ™22

8’ SELF LOCK - 1380008 (3 OPENINGS)
12’ SELF LOCK - 1380012 (5 OPENINGS)

10’ SELF LOCK - 1380010 (4 OPENINGS)

E | g ] g O g ] ; o]
Y Ch [ Ch o Ch [ Ch
~8-3/8"~ 7-3/4"
MAX 1D TYP. 1D
%3 R D R
/:\ | || | L [~ | || | ||
o '_l o
28-1/2"
ot 119-7/8"
CROSS SECTION
- 8" THICK CONCRETE CURB
- INSTALL AT A HEIGHT TO SUIT ANIMAL SIZE
. - INSTALLATION SHOWN IS A GUIDELINE ONLY
62 1/2 - FACE OF CHANNEL POST IN CENTER OF CURB
11274z
18344 FEED MANGER
_eense | | [} 7R

www.canarm.com

agsales@canarm.ca
Subject to Change without notice. Printed in Canada



W/CANARM' COMFY COW SELF LOCK 22.5” SPACING =252

AgSystems ™

8’ SELF LOCK - 1370008 (4 OPENINGS)
12’ SELF LOCK - 1370012 (6 OPENINGS)

10’ SELF LOCK - 1370010 (5 OPENINGS)

7-3/4" =
~8-3/8"~ TYP.
36 MAX. 1D S 10 S" S % S

Hia
18]
TFT

i - R Lt [Z] LT o Lt Lt LF
| | | °
Li 22—1/2“44
119-17/8"

CROSS SECTION

- 8” THICK CONCRETE CURB

621/2" - INSTALL AT A HEIGHT TO SUIT ANIMAL SIZE

- INSTALLATION SHOWN IS A GUIDELINE ONLY

- FACE OF CHANNEL POST IN CENTER OF CURB

FEED MANGER ’ i ’ ’ i ’ ’

___PENSIDE_____§ '

www.canarm.com agsales@canarm.ca
Subject to Change without notice. Printed in Canada



W/CANARM QPEN TOP ADJUSTABLE SELF LOCK (CALF) ™o

AgSystems ™

ASSEMBLY

(1360010) 10’ SELF LOCK FRONT

MAX OPENING
6 1/ ”
—o! 1= MIN OPENING - -
o 167716
. ] 5 hﬂ\\g/fg n Imd - L\ I} " I}
| |
- [ H N H
i =
31" 295/16"
] =
119 7/ ” @]. 11/16"
O
N !
CROSS SECTION
- 8” THICK CONCRETE CURB
- INSTALL AT A HEIGHT TO SUIT ANIMAL SIZE
- INSTALLATION SHOWN IS A GUIDELINE ONLY
- FACE OF CHANNEL POST IN CENTER OF CURB
N
50"
;¥
13/4”
iy
MAX 10!1 /"" :« 5" to 7"
MIN 12" / %% FEED MANGER
PEN SIDE l

agsales@canarm.ca

www.canarm.com
Printed in Canada

Subject to Change without notice.



Y/CANARM'  GE| F LOCKING FEED FRONT HANDLE oo

AgSystems ™

SELF LOCK HANDLE

DETAIL A
SCALE 1:5

www.canarm.com agsales@canarm.ca
Subject to Change without notice. Printed in Canada



FEED FRONTS - 7
NOV/2022

—_—
=
-
<T
—d
=
—
(72
=
-
LLl
-
Q
<L
oc
(2]
LL
w—ld
[am]
—_
<L
-

AgSystems ™

ANARM®

Y/ c

INSTALLATION INSTRUCTIONS

STEP #2

STEP #4
NOTE BRACKET ORIENTATION

STEP #1
NOTE BRACKET ORIENTATION

STEP #3

rm.com

www.cana

ct to Change without notice.

Subje



Y/ CANARM' MATERNITY PEN S ova

AgSystems ™

1390030

0.C POST
(+1/8"-0")
ole - ap
oo \—/ 00
APPROX |
l—7 5/8”
ID
52 7/8”
62 1/2”
[} [ |
21 ”
[} [ |
> & 4 @
(=)
= |
-\/% e o 4“
9 5/8” ~ ;
l ! FLOOR
www.canarm.com agsales@canarm.ca

Subject to Change without notice. Printed in Canada



Y/ CANARM'

ADJUSTABLE HEADRAIL

FEED FRONTS - 9
SEPT/2022

AgSystems ™

BRACKET / SELF POST ( 2 3/8" PIPE)

ASSEMBLY

Q\Lﬂ_j

30 1/4”
HIGHEST
POSITION 23 13/16"
LOWEST
POSITION
5 14 3/4”
183/4" |
MANGER SIDE
of’
PEN SIDE
ADJ RAIL BKT - 2 3/8"FL (BX/3) 1316706-3
ILLUS. DESCRIPTION QTY/PKG
1 ADJ. RAIL BRACKET 3
2 520 WASHER 12
3 520 WASHER 12
4 BOL 1/2-1 HSS 6
5 NUT 1/2 FSS 6
6 520 U BOLT 6

www.canarm.com
Subject to Change without notice.

agsales@canarm.ca
Printed in Canada



Y/CANARM"  gn GE| F LOCK MOUNTING OPTIONS

AgSystems ™
1325123 - 3” SELF CHANNEL POST 1325100-PK - POST CLAMP FOR 1325750 - GALV SELF MOUNT PLATE
TOP SPACER SELF ON 6”x 6” POST WITH FOR 6” POST
SLEEVES
fe—— 4 /]
[ ] — 11" -
' | i a4 o‘<—6916" e
—O / ﬂ O
3" 6!! X 6!! POST 2 7/8 7 ]./].6"
| o — (—I3
\ 4 j N Y °© J l
S 1 N 57/16"
41/8"
STRAIGHT MOUNT ANGLE MOUNT
6” X 6” POST 6” X 6” POST

1325100-PK

138 — 513/16"

®] 1325100-PK
© % ] [1[©] 1325100k

| o

! — ¢ T
CHANNEL POST FACE
1834 —= 8 CHANNEL POST FACE 0.C. OF CURB 18 3/4"
+ .C. 8"
§ 4 g
www.canarm.com agsales@canarm.ca

Subject to Change without notice. Printed in Canada



Y/CANARM'  5u GE| F L OCK MOUNTING OPTIONS

AgSystems ™
1325122 - 2” SELF 1325105-PK - POST CLAMP FOR 1320091 - GALV SELF MOUNT
CHANNEL POST TOP SPACER SELF ON 5”x 5” POST WITH PLATE FOR 4” OR 5” POST
SLEEVES
e 2
e \
l ) _ S [
T*O 313/16" . O
1
21z o 39167 158 ]
~J sxs5prosT 6" i
41/8" T =
STRAIGHT MOUNT ANGLE MOUNT
5” X 5” POST 5” X 5” POST

1315702 —~ 2%

1325105-PK

6-5/16"

el 5 5
19/16" ]
L

I[e | 13251005PK
- i 1325105-PK
] I
4 1 CHANNEL POST FACE
18 3/4" CHANNEL POST FACE 0.C. OF CuRB 183/4"
+ 0.C. OF CURB N RV
—— 8“ e
& 4" ’7 2
www.canarm.com agsales@canarm.ca

Subject to Change without notice. Printed in Canada



Y/CANARM"  gF| F | 0CK MOUNTING OPTIONS o

AgSystems ™

1320091
GALV SLF MOUNT PLATE 4” POST OR 5” POST

8-1/2"
6-1/16"

4 D

" 1-5/8"
3-9/16 / &

1-1/8"

1320090
GALV SLF MOUNT PLATE 2 1/2” POST OR 3 1/2” POST

3-9/16" 1-5/8" 6

1-1/8"

www.canarm.com agsales@canarm.ca
Subject to Change without notice. Printed in Canada



Y/CANARM' CHANNEL POSTS AND RAIL BRACKETS ™o ™

AgSystems ™
1315700N-09 1315700H

8 GA. POST & PLATE 1/4” POST & PLATE
B 2

LY o :T

® o NOTE: 4 9/16” WIDE LI NOTE: 6” WIDE
: © 17/8” DEEP S 2” DEEP

N} )
° o o e
° o ¢
N 0
62 1/2"
621/2"
@ °© N .
) ° o .
0
A 0
\“@ |
1316706-3 - ADJUSTABLE RAIL BRACKET 1316707 - ADJUSTABLE RAIL BRACKET -
(PKG OF 3) (FOR STANDARD CHANNEL POST) 6 X 6 POST

* ALSO AVAILABLE FOR OTHER POST SIZES

www.canarm.com agsales@canarm.ca
Subject to Change without notice. Printed in Canada



Y/ CANARM' ANGLE MOUNTING BRACKET - FeeD FRONTS - 14

AgSystems ™ SELF LOC K NOV/2022

ASSEMBLY
(NOT CALF (1315802)
VISIBLE)
DESCRIPTION
1 S.L.F. CALF ANGLE MOUNT (BKT ONLY) 1315801 1
2 3/8" X 1" CAR, BOLT (not visible) BOL3/8-1C 2
3 3/8" NUT NUT3/8 2
4 7/16" WASHER WAS7/16 2
5 SELF LOCK BOLTS, 3/8" X 3" HEX INCL. WITH S.L.F.
6 SELF LOCK BOLTS, 3/8" X 2 1/2" HEX INCL. WITH S.L.F

COW & HEIFER (1315702)

DESCRIPTION
1 S.L.F. COW/HEIFER ANGLE MOUNT (BKT ONLY) 1315701 1
2 3/8" X 1" CAR, BOLT (not visible) BOL3/8-1C 2
3 3/8" NUT NUT3/8 2
N 4 7/16" WASHER WAS7/16 2
5 SELF LOCK BOLTS, 3/8" X 3" HEX INCL. WITH S.LF.
6 3/8" X 3 1/2" HEX BOLT BOL3/8-31/2H | 2
/\ CALL A CANARM AGSYSTEMS’ CUSTOMER
SERVICE REPRESENTATIVE FOR MORE
MOUNTING OPTIONS.

1) BOLT THE TOP OF THE BRACKET TO THE TOP OF THE POST WITH THE TWO 3/8” X 1” CAR. BOLTS INCLUDED
WITH EACH BRACKET.

2) USE BOLT #6 TO FASTEN THE S.L.F. BOTTOM PIPE AND ANGLE MOUNT BRACKET TO THE CHANNEL POST.

3) BOLT TOP RAIL OF SELF LOCK TO THE MOUNTING BRACKET WITH THE 3/8” X 3” HEX. BOLTS.

www.canarm.com agsales@canarm.ca
Subject to Change without notice. Printed in Canada



Y/ CANARM SWINGING SELF LOCK

AgSystems ™
ASSEMBLY
Ei—._;—'“
OPTION #1
- SWINGS BOTH WAYS 90°
i APPROX.
< 107 1/4"
i 0.C. CHANNEL POSTS (8 ft. SELF LOCK)

.
& p
74| -

L A Swiaie A SRR o
SELF LOCK ] A SELF LOCK
APPROX.
- 102 5/8" ~
1.D. CHANNEL POSTS (8 ft. SELF LOCK)
APPROX.
- 102 1/4" =

0.C. CHANNEL POSTS (8 ft. SELF LOCK)
APPROX.
97 5/8"
I.D. CHANNEL POSTS (8 ft. SELF LOCK)

SELF LOCK 87 SWINGING [ SELFLOCK } SELF LOCK
: 1 . /
OPTION #2
- SWINGS OUT ONLY 90°
- CURB MUST BE CHAMFERED ON FRONT CORNERS
~ SWINGING SELF LOCK PARTS
DESCRIPTION
1 SLF SWING END LEFT / COW & HEIFER 1310795
2 | SLF SWING END RIGHT / COW & HEIFER | 1310796
; 3 BOLT ON HINGE STRAP 1444275
N/S 5/8" HINGE PIN 1454252
N/S | 3/4" HINGE PIN 1454252:3/4
www.canarm.com agsales@canarm.ca

Subject to Change without notice. Printed in Canada



Y/CANARM'  GF| F LOCKING FEED FRONT PARTS o

AgSystems ™
1310795 - SLF SWING END 1310796 - SLF SWING END 1454252 - 3/4
LEFT / COW & HEIFER (50” LG.) RIGHT / COW & HEIFER (50” LG.) 3/4” HINGE PIN
o] o =
(0] (0]

0 0
0 0
0 0
1444275 1315802 - SLF ANGLE MOUNT 1315702 - COW/HEIFER SLF ANGLE
BOLT ON HINGE STRAP KIT, CALF 32” MNT, C/W HDW

I

www.canarm.com agsales@canarm.ca
Subject to Change without notice. Printed in Canada



Y/CANARM'  GF| F LOCKING FEED FRONT PARTS

AgSystems ™

FEED FRONTS -

NOV/2022

1315805
CALF CHANNEL POST / 50”

<\L£ S

3>

1110476-5
END JOINER (2 3/8” OD PIPE) PKG 5

1380023PK

SELF LOCKING FEED FRONT HANDLE

1310442-5
END JOINER (1 5/8”) BOX 5

www.canarm.com
Subject to Change without notice.

agsales@canarm.ca
Printed in Canada



Y/ CANARM ANGLED FEED FRONT

AgSystems ™

ASSEMBLY - (COW & HEIFER)

rﬁinok.ﬂ.ina‘ ﬁBinr
L L

L

APPROX.
18in

7#‘

i

L

43-1/2in
0.D.

I F] F] £ & ‘ - @

ANGLED FEED FRONT - COW & HEIFER

DESCRIPTION
1 2 3/8" OD GLV. PIPE - 21' LENGTH 1110475-1
2 CLAMPED IN ANGLED UPRIGHT (38" OD) 1310310
3 38" END UPRIGHT C/W FILLER (COW ANGLED FRONT) 1310310E
4 T-CLAMP 2 3/8" - 1 5/8" T-CLAMP (PC) CL-90240043

(USE WITH GALV. PIPE)

ASSEMBLY - (CALF)

 APPROX.

10"- 12"
RV - =

0.C.

ANGLED FEED FRONT - CALF

DESCRIPTION
1 15/8" OD GLV PIPE - 21' LENGTH 1110400-1
2 CLAMPED IN ANGLED UPRIGHT / CALF 1310330N
3 CLAMPED IN ANGLED UPRIGHT END PC. / CALF 1310331N
4 T-CLAMP 1 5/8" - 1 5/8" (BOX OF 10) 101110E-10

(USE WITH GALV. PIPE)

www.canarm.com agsales@canarm.ca
Subject to Change without notice. Printed in Canada



Y/ CANARM'

ANGLED FEED FRONT - WELDED

FEED FRONTS - 19

AgSystems NOV/2022
1394008
SP 8' LG WELDED ANGLE FEED FRONT (2 3/8” TOP - BOTTOM)
95-7/8"
21-1/16"
1.D. 8" 1D
sy AVAILABILITY
St L % ,, AND PRICING.
HIN 1D. CRITICAL
3-3/8 C
F=—CRITICAL
MIN. 1.D.
5-1/2"
1.D.
4-13/16"
r 1.0.
[ | | o] ——
o e —
1394010
SP 10' LG WELDED ANGLE FEED FRONT (2 3/8” TOP - BOTTOM)
| ~
5-1/2" ]
1.D.
S-IWD/Z”
/ CALL FOR
g | .. | AVAILABILITY
AND PRICING.
1.D.
’ S-IWE{Z”
i '

| o] ————

16-5/16"
0.C. ALL

1394012

- 16-3/4"
1.D.

SP 12' LG WELDED ANGLE FEED FRONT (2 3/8” TOP - BOTTOM)

20-5/8°
1D

143-7/8"

7-

n

/8"
10

=

o

/ 10
| 5-1/2
r

B

16-5/16"
0L ALL

1 <]
20-5/8"
1D

)‘1;7—

1
o r
10
5-1/2"
10
5-1/2 b
1D
3-3/4 112
CRITICAL 1o
MIN, 1.0, 5-1/2"
10
" 3-3/4"
14-5/8
Eg (f i
4 '}

Lo @1/16"

L— 15/16"

DETAIL A
TYP

CALL FOR
AVAILABILITY

— | AND PRICING.

www.canarm.com
Subject to Change without notice.

agsales@canarm.ca
Printed in Canada



N3AID S1IHOIFH NOILVTIVLSNI 3HL HOLVIA Ol SH3AIAIQ av3dds

(=)
5 (sdoo| .6 8 .G8 10} dwed OL-691 L0 @Sh }snw) SMOD + | 009 | 40} Suol}epuswWWOdal MaU ,
m 8 41S 10 adid wonoq pue qInd usemiaq adeds ,g/L L = IA
S g |ledpeay Jo wopog o} (few Jo) Buippaq passaidwod jo doy woly ybiay |e1s = A
w9 |resjoau "0°0 01 wuope|d JO Jeas woly 9ouelSIp [BlUOZLIoY = Al
) 19)08Iq 19)SLq JO W0110q 0} wuoye|d JO Jeal woly 8ouelSIp [BlJUOZLIOY = I
i abe Buined = I
(7)) »n abe Buipaaiq =1
= n_mu. 3ZIS TVININY HOLVIN OL STIVLS33dd TIVLSNI LSNIN iATNO S3ANIN3AIND
w [ MOD Wl W61 «€9-.29 | .26-.0S | «22-.0L | 0L .26-.06 | .9t | .02t 196 ,09-,85  «dOOI 76 ('PS) SMOD,
R (a] MOD n4" WO 1€9-.C9 W LG-u61 WGLl-u0L .02 + .8¥ <518 «801 «88 .09-.89 QOO_ «G8 A. UHWV SMOD
(o= LL. :m MoQ Wk W6l .19 Wi 402-,99 | .89-.59 A7 «08L | .20k 62 .09 0Gel ) ve
m o o MoQ Wl Bl .19 W87 89-u79 | 429-.79 «9F 081 | .20k w62 409 oLel €2
LLl m MmoQ R4 Bl .09 .87 89-.79 | .59-.29 el G2 | .00k W62 .09 02k 22
nrﬁ LLl m MoQ A4 Bl .09 W87 79-,09 | .29-.65 el «S2ZL | .00k w62 .09 oezl e
— Ll H_ MmoQ R4 Bl .09 wl¥ 79-,09 | .29-.65 N4 991 .96 wel .85 061 0c
u () i MoD A4 Bl eles WAy 916G | 129-.65 W47 991 .06 wCl eles 0GhI 6l
Ll — @ MoD Wb .6} .85 Oy | .29-.65 | 2985 | .z | .9 | .06 2L .95 0zLL 8l
QX 9 478 Iy A4 W8l 419G Wel% 19-.8G | .29-.8G e 2 €91 .98 wCl «GS 090} Ll
m (o) . 41S ‘Ipy ull WSl .9G Rl 6G-u2G | 419-.85 OF 651 .98 wel 4GS olLok 9l
I O 41s oy Wb .Gl S S | 66,26 | 0928 | Wov | eS| 8 | 2z .55 06 () G
- ] 41S ‘Ipy ull WSl WS Wel% 486-,GS | .6G-.95 .6€ WBEL 8 wel €S 006 0 y1
m w & 41S ‘lpy wbl WGl w35 W% 8G-4GG | .6G-.95 .8€ BEL WGl .09 wCS 0S8 el
— = 478 Iy ull WGl el N4 49G-.¥S | .6G-.95 L€ W9EL wCl .09 WlG 008 0zt
LL] g
_m (Jp] u.v 478 Py ubl WSl .0S o 49G-.7S | 4GS-.2S .9€ W9EL wCl .09 Wl 0S. b
— & = 478 Iy ull WGl .0G oi% w2G-40G | W¥S-.CS Wi FEL .89 .09 40G 00. o]
L m H_I_m —U< wbE __mF __om 4% __oml __w.v __mml__om :mm __Nm—' __Nm __Oo __Om OO@ @
<L nbu m 478 v ull WGl .0G a4 WBY-ul¥ | 12S-.6Y WC€ W2l w29 .09 B 0SS 8
nqu —t [T} JeD Ipy wl 4! W87 N0} 72 W87-u9% | 40S-.L¥ W€ wbLL Nelel W87 W67 00S l
= m an yed fpy wl 4! W8V Wl€ WOP-ub¥ | W8P-.SP .0€ WLl w2G W8Y W8Y 0S¥ 9
— = Jed Ipy wl ! Nel% w28 WSY-uEY | wlbmubb .82 901} .9G W87 b 1[0} S
B m yeo Ipy «S W0l Kel% .9€ WEr-ul | WSP-ueh W12 901 «GS “8Y 47 0se 14
LLl m Jed py e W0l W% WGE wL7-u6€ | WEP-.0F 92 901} «GS W87 uly G2 €
O =7 Y I N cTs - A
MF (uonoag saling D 9ag) 's91 002 HIANN STVININY HOd ONINN3d 47vD asn 0S| L
: 00} wig
& E
oe S Syuow
< m, 8pIS peed | 8pIS MOD | (epis moD) 101B00 SIEIS - SIES ybusT v_aﬁm_ 0+._m.V Lm_w_ws A M@q !
N a 3007 ' ' ’ [EPNBEIN (070) e|lgnoQ | elbuis el .
=) bloH 193s1ig youy WbisH xoiddy [ -xoiddy
<< dA
#13S Jo adA 1 (n) UIPIM [IEIS
&) LHOIFH 84ND [e10L () HIONIT | IE¥seed
(1n) LHOIAM 2 3ZIS H3dIFH
_W ! WNHO41V1d

S1NOYd @334 MO01 4713S S11v1s33dd

agsales@canarm.ca
Printed in Canada

Subject to Change without notice.

www.canarm.com



Y/ CANARM' ORDERING GUIDELINES

AgSystems ™

FEED FRONTS - 21
NOV/2022

FEED FRONTS

1. Order feed fronts - Specify 28 1/2” spacing or 22 1/2” spacing.
- Cow is 41” high, and calf is 30” high.

2. Order channel posts - One more than number of sections (if in one row).
- Order extra posts if adding walk throughs in row.

3. Order handles - One for each run of SLFF (max 80’ per handle).
OPTIONAL:
1. Order angle mount brackets - one per channel post (tilt out self lock option).

2. Order end joiners if ending at a wall.

TO ORDER A SWINGING SLFF SECTION:

1. Order one of each SLFF swing ends (left and right).
2. Order one 3/4” pin - for hinge end.
Order one 5/8” pin - for latch end.
3. Order two bolt on hinge straps for walls and channel post.

ANGLED FEED FRONTS - COW

1. Order Uprights, T-clamps and end up-rights (c/w filler)

Example: 120” - (18” for start and finish) / (13” - 14” oc) = 7 openings

Parts needed: 6 uprights + 2 end uprights + 16 T-clamps

ANGLED FEED FRONTS - CALF

1.  Order Uprights, T-clamps and end up-rights (c/w filler)

Example: 120” - (15” for start and finish) / (10” - 12” oc) = 9 openings

Parts needed: 8 uprights + 2 end uprights + 20 T-clamps

www.canarm.com
Subject to Change without notice.

agsales@canarm.ca
Printed in Canada



Y CANARM ANGLED FEED FRONT PART LIST

AgSystems ™

FEED FRONTS - 22
NOV/2022

1110475-1

1310310

1310310E

CL-90240043

1110400-1

1310330N

1310331N

101110E-10

cow
6’ 8’
21’ LG GALV. 2 3/8” PIPE .6 7
ANGLED UPRIGHT 3 4
ANGLED UPRIGHT END FILLER 2 2
T-CLAMP 2 3/8” x 1 5/8” 1 PC 10 12
CALF
6’ 8’
21’ LG GALV. 1 5/8” PIPE .6 v
ANGLED UPRIGHT 4 6
ANGLED UPRIGHT END FILLER 2 2

T-CLAMP (BOX OF 10) 1.2 1.6

10°

16

10’

2.0

www.canarm.com

Subject to Change without notice.

agsales@canarm.ca
Printed in Canada



	Comfy Cow Self Locking Feed Fronts
	Self Locking Feed Fronts for Calves
	Angled Feed Front
	Adjustable Rail Bracket
	Comfy Cow Self Lock 28.5” Spacing
	Comfy Cow Self Lock 22.5” Spacing
	Open Top Adjustable Self Lock (Calf)
	Self Locking Feed Front Handle
	Handle Bracket Installation
	Maternity Pen
	Adjustable Headrail Bracket/Self Post (2 3/8” Pipe)
	6” Self Lock Mounting Options
	5” Self Lock Mounting Options
	Self Lock Mounting Options
	Channel Posts and Rail Brackets
	Angle Mounting Bracket - Self Lock
	Swinging Self Lock
	Self Locking Feed Front Parts
	Angled Feed Front
	Angled Feed Front - Welded
	Installation Guidelines for Freestalls & Self Locking Feed Fronts
	Ordering Guidelines
	Angled Feed Front Part List



